=PI (E2: & e)
EE .22 .MM .G NRAY - B2 SIEEPIELS & o s

=[Nt 100,874,089 85,120,903 A 15,753,186

LAl 100,874,089 85,120,903 AN 15,753,186

|23 L FHMES EH g 29,533, 120 50,884,880 21,351,760

HIAIS HEXRA(SAILF=AHSZHEIDIS) 8,851,120 4,705,720 A 4,145,400

o2&z X& 8,796,000 4,668,600 A4,127,400

307 2I2tol & 8,796,000 4,668,600 A4,127,400

08 OIXt=EAXZ 8,796,000 4,668,600 A4,127,400
A8 Ol=Hl 2dHEsX0l e OIXNEEZ 4,668,600

40,000,000& *7, 781 MICH*1.5%

MIOWE ALY =Bl HE3] 28,000 14,000 A 14,000

308 NXICHH SO0l & 28,000 14,000 A 14,000

01 TUXHNBAEXZ 28,000 14,000 A 14,000
ZHIME FHEHS 1,000,000% * 1400 7+ = 14,000

ZHIME s 225 27,120 23,120 A4,000

201 B2 h| 16,120 11,120 25,000

01 At 2teltl 16,120 11,120 A5,000
SAE=HEZHUIAIY EE22 ME 10,000
dHDI= 28423 A¥=+E 70,000 »4H *43] 1,120
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XX - 22 N=CRPEN rSTEL=p YL Xl & o nEY
Ut AS 11,000 12,000 1,000
10 BAMHIEAS 1,000 2,000 1,000
HUAS DR HYE|, AT 000 oa0sLec 4,000
000, 000! %25
HUIAY 245 93E WA 8,000
HHIAIY S9Hl L A&l X ( 20,682,000 46,179, 160 25,497,160
NEHS 22X 16,000,000 35,000,000 19,000,000
403 KHXIEHRIS K201 & 16,000, 000 35,000,000 19,000,000
RIS K2 2 16,000,000 35,000,000 19,000,000
YA R BTALY BE(SRNE) 000,000, 00RL2l 6,000,000
000,000, 00024 *2JH £
HIZOb U ALY 1,600,000
CEAES HAZHIAY 2,400,000
BHOIFX EOIZXI AL 10,000,000
U PO o3 - 2P Z2AAWLAMY 4,000,000
NSEOHHE HY - B L BSSTA NS 11,000,000
FHIAY 25 29 =& 2,898,000 2,412,160 485,840
207 1 IH 2l 898,000 1,412,160 514,160
01 elpg | 898,000 1,412,160 514, 160
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RE 22 HB O - ARAY - BES rSIELep LT X & o HRE2
UMY TADIISS AIEEH(E33) 90,260
2020 EHDI2HE s+ E8H(E33) 321,900
HEOI=X - AIDOIIE AEHIIS L HEHOIE & 1,000,000
SN
308 KXICHHSO0I& 0 1,000,000 1,000,000
01 AUXHNBAEEFZ 0 1,000,000 1,000,000
XXI= HUHHE 8 S9H BX 1,000,000
200,000, 0003 *5H K| =
CH==C{ OHE 1,784,000 8,767,000 6,983,000
405 AHoHFE =H| 1,784,000 8,767,000 6,983,000
01 XML ESFFHSHI 1,784,000 8,767,000 6,983,000
LH==& opel 5,140,000
LHFHAE XA 3,627,000
S (T AIEY D) 71,340,969 34,236,023 A 37,104,946
NE(SAILFHEZEHIIIS) 11,340,969 4,236,023 AT7,104,946
&8N E 11,340,969 4,236,023 AT7,104,946
602 Ol Xl= 11,340,969 4,236,023 AT7,104,946
01 OIXl= 11,340,969 4,236,023 AT7,104,946
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I 22 FHM . O9 - NRAY - HYS rSREL=pIEL pNEL fImE=ET

Ol X2 4,236,023

HWEAHHXS (AL =HEZEHIIIZ) 60,000,000 30,000,000 230,000,000

LHEHHK = 60,000,000 30,000,000 230,000,000

704 Oi&= 60,000,000 30,000,000 /30,000,000

01 OE= 60,000,000 30,000,000 30,000,000
sg2ellis = 30,000,000

A= g A 100,874,089 85,120,903 215,753, 186




